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def softmax(x,y): xx = Matrix([x0,x1,x2])
return np.exp(-x)/(np.exp(-x)+np.exp(-y)+np.exp(-1)) ww
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from sympy import *
a, s, t, x=symbols('a, s, t, x")

yC1 = 3*x**2
yC1

322

yC2 = 2*x**24a**2
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eq=yC1-yC2

xB = solve(eq,x)[1]
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m1 = diff(yC1)
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ylT = m1.subs({x:s})*(x-s)+yC1.subs({x:s})

yl1.expand()
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m2 = diff(yC2,x)
yl2 = m2.subs({x:t})*(x-t)+yC2.subs({x:t})

yl2.expand()
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tO=solve(m1.subs({x:s})-m2.subs({x:t}),t)[0]
t0

3s
2
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from sympy import *
a, s, t, x =symbols('a, s, t, x")



yC1 = 2.9%x**2
yC1
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yC2 = 2%x**2+a**2
yC2

a® + 22°
eq=yC1-yC2

xB = solve(eq,x)[1]
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m1 =diff(yC1)

#y - y0 = m*(x-x0)
ylT = m1.subs({x:s})*(x-s)+yC1.subs({x:s})

yl1.expand()

—2.952 + 5.85z

m2 = diff(yC2,x)
yl2 = m2.subs({x:t})*(x-t)+yC2.subs({x:t})

yl2.expand()
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tO=solve(m1.subs({x:s})-m2.subs({x:t}),t)[0]
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SS=integrate(yC1,(x,s,a))+integrate(yC2,(x,a,t))
together(SS.subs({t:t0}).subs({s:s0}))
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